
07-2012

Quick release, rearwh.

Quick release holder

Lock nut M8

Bolt M8x85

Spacer M8

Screw M6x12

Rubber ring

Washer for hinge

Unit mount. adapt. set

Starknob

Rubber insert 31,8

Rubber insert 25,8

Rubber strap

Rubber foot rear frame

Bolt M20 (with quick release)

Slide part Ø 20mm

Screen capsule M20

Rubber foot frontleg, left

Rubber foot frontleg, rechts

Manual set Satori

Resistance unit Satori

Lever (bleu)

Starknob M20 x 2 bleu

Handle complete (bleu)

Frontleg left (complete)

Manchet frontleg 

Frontleg right (complete)

Fitting kit Satori

Adjustment lever (bleu)

Rubber front foot 

Handlebar Skyliner

Skyliner 

T1402

T1403

T1408.11

T1410.02

T1410.06

T1461.19

T1465.01

T1465.08

T1466

T1467.07

T1467.08

T1467.09

T1467.17

T1852.08

T1852.13

T1852.15

T1852.18

T1853.06

T1854.06

T1856.50

T1861

T1862.05

T1862.16

T1862.22

T1863

T1863.03

T1864

T1865

T1867.05

T1895.02

T1895.03

T2590

60 x 50,5 x 14 10,5 kg

T1402

T1852.15

T1862.05

T1853.06

T1863

T1403

T1864

T1852.13
T1862.16

T1852.18

T1861

T1410.02

T1863.03

T1467.08

T1467.09

T1467.17

T1867.05

T1467.07

T1852.08

T1408.11

T1410.06
T1465.08
T1461.19
T1465.01

T1862.22

T1895.02

T1895.03

T2590

T1854.06

L
A

U
N

A
M

T1856.50 T1865

T1856

Satori T1856

Tech info

T1466 Unit Mounting

Adapter Set for bikes 

with wheeldiameters of

610 - 640 & 690 - 720 mm


